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QUESTION 1

Where does the Juniper DX store cached objects? 

A. hard drive 

B. RAM 

C. flash drive 

D. SAN 

Correct Answer: B 

 

QUESTION 2

In which two situations should you run the command sync group? (Choose two.) 

A. when you enable Unified Failover 

B. when you require synchronization of the 3G Cache objects 

C. when you create an ActiveN group 

D. when you synchronize the sticky table 

Correct Answer: AC 

 

QUESTION 3

Which three statements about Label Switched Paths (LSPs) are true? 

A. LSPs are bidirectional 

B. LSPs are unidirectional 

C. LSPs can be signaled by CAC. 

D. LSPs can be configured explicity 

E. LSPs can be configured dynamically 

Correct Answer: BCD 

 

QUESTION 4

In a production environment, which two steps are required to enable SSL between the client and the Juniper DX?
(Choose two.) 
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A. Enable client certificate authentication. 

B. Enable listen side SSL. 

C. Enable target side SSL. 

D. Import SSL certificate and key. 

Correct Answer: BD 

 

QUESTION 5

An enterprise has two SMTP servers, one primary and one backup. They would like for all traffic to go to the primary
server first. If the primary server fails, then traffic should go to the backup server. Once the primary server returns to
normal operation, they would like traffic to return to the primary server. Which load balancing algorithm would meet this
requirement? 

A. Backup Chaining Revert enabled 

B. Maximum Connections Revert enabled 

C. Backup Chaining with Sticky enabled 

D. Maximum Connections with Sticky enabled 

Correct Answer: A 
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